Lior Silberman’s Math 100 11

5. THE INTERMEDIATE VALUE THEOREM
(23/9/2021)

Goals:

(1) The TVT

(a) With given endpoints

(b) Free-form (you find endpoints)
(2) (if there’s time) The derivative
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Math 100 — WORKSHEET 5
THE IVT

1. THE INTERMEDIATE VALUE THEOREM

(1) Show that f(z) = 2z° — 5z + 1 has a zero in 0 <
7 1,
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(2) (Final 2011) Let y = f(x) be continuous with do-
main [0, 1] and range in [3,5]. Show the line y =
2z + 3 intersects the graph of y = f(x) at least
once.
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(4) (Final 2015) Show that the equation 2% —3-+sin z +
cosz = 0 has at least two solutions.



(3) sinx = x + 1 has a solution.
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